



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Artificial Intelligence) 2nd Semester Section-B Morning Session: Autumn 2025

Registration #	Name	GE163					GE164					GE167					GE168					MT143					SE111				
		Expository Writing					Discrete Structures					Ideology & Constitution of Pakistan					Social Sciences (Urdu)					Probability & Statistics					Programming Fundamentals (C)				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BS-AI-Aut-24-M-B-0001	Abdul Rafay Leghari	-	-	-	-	-	-	-	-	-	65	C+	2.5	2	5.0	-	-	-	-	-	-	-	-	-	-	-	-	-			
BS-AI-Aut-24-M-B-0030	Muhammad Abu Bakar Hamza	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	31	F	-	3	-	52	D	1.5	4	6.0	
BS-AI-S-25-M-B-01	Abbas Abid	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	55	C	2.0	2	4.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-02	Abdul Mohiz	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	75	B+	3.5	2	7.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-03	Akbar Ali	67	C+	2.5	3	7.5	81	A	4.0	3	12.0	70	B	3.0	2	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-04	Alisha Majeed	70	B	3.0	3	9.0	77	B+	3.5	3	10.5	70	B	3.0	2	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-05	Ammad Ul Hassan	71	B	3.0	3	9.0	61	C	2.0	3	6.0	65	C+	2.5	2	5.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-06	Faheem Fareed	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-07	Faiq Javed Satti	60	C	2.0	3	6.0	87	A	4.0	3	12.0	76	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-08	Faizan Murtaza	56	C	2.0	3	6.0	51	D	1.5	3	4.5	70	B	3.0	2	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-09	Hafsa Mumtaz	80	A	4.0	3	12.0	70	B	3.0	3	9.0	65	C+	2.5	2	5.0	-	F	-	3	-	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-10	Hammad Nadeem	81	A	4.0	3	12.0	82	A	4.0	3	12.0	80	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-11	Hamzaikramullah	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	60	C	2.0	2	4.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-12	Haroon Maqsood	71	B	3.0	3	9.0	73	B	3.0	3	9.0	85	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-13	Haseeb Tariq	51	D	1.5	3	4.5	80	A	4.0	3	12.0	75	B+	3.5	2	7.0	65	C+	2.5	3	7.5	52	D	1.5	3	4.5	-	-	-	-	-
BS-AI-S-25-M-B-14	Hassaan Ahmed	61	C	2.0	3	6.0	88	A	4.0	3	12.0	76	B+	3.5	2	7.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-15	Huzaiifa Mehtab Kiyani	70	B	3.0	3	9.0	71	B	3.0	3	9.0	75	B+	3.5	2	7.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-16	Ishwa Saeed	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-17	Jasim Noshad	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	71	B	3.0	2	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-18	Kashish Dildar	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-19	Laiba Ghalib	70	B	3.0	3	9.0	84	A	4.0	3	12.0	85	A	4.0	2	8.0	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-20	Maheen Abid	62	C	2.0	3	6.0	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-21	Mahnoor Noshad	65	C+	2.5	3	7.5	62	C	2.0	3	6.0	75	B+	3.5	2	7.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-22	Moiz Ahmed	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-23	Muhammad Ali	60	C	2.0	3	6.0	95	A	4.0	3	12.0	71	B	3.0	2	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-24	Muhammad Arshad	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-25	Muhammad Bilal Afridi	51	D	1.5	3	4.5	86	A	4.0	3	12.0	60	C	2.0	2	4.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-26	Muhammad Danish Irfan	81	A	4.0	3	12.0	92	A	4.0	3	12.0	75	B+	3.5	2	7.0	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-27	Muhammad Ehsan Ashir Ali	75	B+	3.5	3	10.5	82	A	4.0	3	12.0	80	A	4.0	2	8.0	-	F	-	3	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Artificial Intelligence) 2nd Semester Section-B Morning Session: Autumn 2025

		SE112					SE114				
		Object Oriented Programming					Digital Logic Design				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BS-AI-Aut-24-M-B-0001	Abdul Rafay Leghari	-	-	-	-	6	F	-	3	-	
BS-AI-Aut-24-M-B-0030	Muhammad Abu Bakar Hamza	-	-	-	-	-	-	-	-	-	
BS-AI-S-25-M-B-01	Abbas Abid	83	A	4.0	4	16.0	70	B	3.0	3	9.0
BS-AI-S-25-M-B-02	Abdul Mohiz	56	C	2.0	4	8.0	55	C	2.0	3	6.0
BS-AI-S-25-M-B-03	Akbar Ali	54	D	1.5	4	6.0	55	C	2.0	3	6.0
BS-AI-S-25-M-B-04	Alisha Majeed	56	C	2.0	4	8.0	65	C+	2.5	3	7.5
BS-AI-S-25-M-B-05	Ammad Ul Hassan	51	D	1.5	4	6.0	56	C	2.0	3	6.0
BS-AI-S-25-M-B-06	Faheem Fareed	-	F	-	4	-	-	F	-	3	-
BS-AI-S-25-M-B-07	Faiq Javed Satti	59	C	2.0	4	8.0	55	C	2.0	3	6.0
BS-AI-S-25-M-B-08	Faizan Murtaza	29	F	-	4	-	34	F	-	3	-
BS-AI-S-25-M-B-09	Hafsa Mumtaz	56	C	2.0	4	8.0	57	C	2.0	3	6.0
BS-AI-S-25-M-B-10	Hammad Nadeem	71	B	3.0	4	12.0	80	A	4.0	3	12.0
BS-AI-S-25-M-B-11	Hamzaikramullah	56	C	2.0	4	8.0	53	D	1.5	3	4.5
BS-AI-S-25-M-B-12	Haroon Maqsood	57	C	2.0	4	8.0	65	C+	2.5	3	7.5
BS-AI-S-25-M-B-13	Haseeb Tariq	51	D	1.5	4	6.0	52	D	1.5	3	4.5
BS-AI-S-25-M-B-14	Hassaan Ahmed	56	C	2.0	4	8.0	65	C+	2.5	3	7.5
BS-AI-S-25-M-B-15	Huzaifa Mehtab Kiyani	51	D	1.5	4	6.0	57	C	2.0	3	6.0
BS-AI-S-25-M-B-16	Ishwa Saeed	-	F	-	4	-	-	F	-	3	-
BS-AI-S-25-M-B-17	Jasim Noshad	53	D	1.5	4	6.0	50	D	1.5	3	4.5
BS-AI-S-25-M-B-18	Kashish Dildar	-	F	-	4	-	-	F	-	3	-
BS-AI-S-25-M-B-19	Laiba Ghalib	56	C	2.0	4	8.0	70	B	3.0	3	9.0
BS-AI-S-25-M-B-20	Maheen Abid	50	D	1.5	4	6.0	71	B	3.0	3	9.0
BS-AI-S-25-M-B-21	Mahnour Noshad	77	B+	3.5	4	14.0	60	C	2.0	3	6.0
BS-AI-S-25-M-B-22	Moiz Ahmed	-	F	-	4	-	-	F	-	3	-
BS-AI-S-25-M-B-23	Muhammad Ali	71	B	3.0	4	12.0	59	C	2.0	3	6.0
BS-AI-S-25-M-B-24	Muhammad Arshad	-	F	-	4	-	-	F	-	3	-
BS-AI-S-25-M-B-25	Muhammad Bilal Afridi	56	C	2.0	4	8.0	65	C+	2.5	3	7.5
BS-AI-S-25-M-B-26	Muhammad Danish Irfan	70	B	3.0	4	12.0	83	A	4.0	3	12.0
BS-AI-S-25-M-B-27	Muhammad Ehsan Ashir Ali	65	C+	2.5	4	10.0	75	B+	3.5	3	10.5

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Artificial Intelligence) 2nd Semester Section-B Morning Session: Autumn 2025

Registration #	Name	GE163					GE164					GE167					GE168					MT143					SE111				
		Expository Writing					Discrete Structures					Ideology & Constitution of Pakistan					Social Sciences (Urdu)					Probability & Statistics					Programming Fundamentals (C)				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BS-AI-S-25-M-B-28	Muhammad Faheem Alam	75	B+	3.5	3	10.5	82	A	4.0	3	12.0	85	A	4.0	2	8.0	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-29	Muhammad Hassaan	66	C+	2.5	3	7.5	63	C	2.0	3	6.0	75	B+	3.5	2	7.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-30	Muhammad Talha	55	C	2.0	3	6.0	56	C	2.0	3	6.0	70	B	3.0	2	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-31	Muhammad Waiz Ahmed	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-			
BS-AI-S-25-M-B-32	Muhammad Waleed	80	A	4.0	3	12.0	96	A	4.0	3	12.0	71	B	3.0	2	6.0	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-33	Muhammad Yousaf Abdullah	70	B	3.0	3	9.0	76	B+	3.5	3	10.5	70	B	3.0	2	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-34	Muhammad Zeeshan	55	C	2.0	3	6.0	70	B	3.0	3	9.0	80	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-35	Noman Ejaz	65	C+	2.5	3	7.5	97	A	4.0	3	12.0	71	B	3.0	2	6.0	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-36	Noor e Sehar	50	D	1.5	3	4.5	70	B	3.0	3	9.0	70	B	3.0	2	6.0	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-37	Noorish Manzhar	75	B+	3.5	3	10.5	74	B	3.0	3	9.0	80	A	4.0	2	8.0	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-38	Rohail Khan	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-			
BS-AI-S-25-M-B-39	Sharjeel Ahmed	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-			
BS-AI-S-25-M-B-40	Sufyan Jahangir	90	A	4.0	3	12.0	60	C	2.0	3	6.0	61	C	2.0	2	4.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-41	Taseer Hussain	61	C	2.0	3	6.0	65	C+	2.5	3	7.5	65	C+	2.5	2	5.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-42	Um e Amin	-	F	-	3	-	-	F	-	3	-	-	F	-	2	-	-	F	-	3	-	-	-	-	-	-	-	-			
BS-AI-S-25-M-B-43	Umer Majeed	71	B	3.0	3	9.0	82	A	4.0	3	12.0	85	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-44	Yasir Iqbal																					-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-45	Zabeeh Ullah	65	C+	2.5	3	7.5	74	B	3.0	3	9.0	75	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-46	Zain Akram	71	B	3.0	3	9.0	82	A	4.0	3	12.0	70	B	3.0	2	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-47	Zain Maqbool	70	B	3.0	3	9.0	81	A	4.0	3	12.0	85	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-48	Zunaira Zia	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
BS-AI-S-25-M-B-49	Ali Zain Ul Abideen	84	A	4.0	3	12.0	94	A	4.0	3	12.0	86	A	4.0	2	8.0	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____ Checked By: _____ Rechecked By: _____
Superintendent
Asst. Controller of Exams
Controller of Exams



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Artificial Intelligence) 2nd Semester Section-B Morning Session: Autumn 2025

		SE112					SE114					
		Object Oriented Programming					Digital Logic Design					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
BS-AI-S-25-M-B-28	Muhammad Faheem Alam	61	C	2.0	4	8.0	75	B+	3.5	3	10.5	
BS-AI-S-25-M-B-29	Muhammad Hassaan	32	F	-	4	-	51	D	1.5	3	4.5	
BS-AI-S-25-M-B-30	Muhammad Talha	50	D	1.5	4	6.0	50	D	1.5	3	4.5	
BS-AI-S-25-M-B-31	Muhammad Waiz Ahmed	-	F	-	4	-	-	F	-	3	-	
BS-AI-S-25-M-B-32	Muhammad Waleed	76	B+	3.5	4	14.0	76	B+	3.5	3	10.5	
BS-AI-S-25-M-B-33	Muhammad Yousaf Abdullah	51	D	1.5	4	6.0	58	C	2.0	3	6.0	
BS-AI-S-25-M-B-34	Muhammad Zeeshan	57	C	2.0	4	8.0	59	C	2.0	3	6.0	
BS-AI-S-25-M-B-35	Noman Ejaz	57	C	2.0	4	8.0	72	B	3.0	3	9.0	
BS-AI-S-25-M-B-36	Noor e Sehar	52	D	1.5	4	6.0	65	C+	2.5	3	7.5	
BS-AI-S-25-M-B-37	Noorish Manzhar	55	C	2.0	4	8.0	81	A	4.0	3	12.0	
BS-AI-S-25-M-B-38	Rohail Khan	-	F	-	4	-	-	F	-	3	-	
BS-AI-S-25-M-B-39	Sharjeel Ahmed	-	F	-	4	-	-	F	-	3	-	
BS-AI-S-25-M-B-40	Sufyan Jahangir	61	C	2.0	4	8.0	80	A	4.0	3	12.0	
BS-AI-S-25-M-B-41	Taseer Hussain	84	A	4.0	4	16.0	65	C+	2.5	3	7.5	
BS-AI-S-25-M-B-42	Um e Amin	-	F	-	4	-	-	F	-	3	-	
BS-AI-S-25-M-B-43	Umer Majeed	57	C	2.0	4	8.0	76	B+	3.5	3	10.5	
BS-AI-S-25-M-B-44	Yasir Iqbal											
BS-AI-S-25-M-B-45	Zabeeh Ullah	76	B+	3.5	4	14.0	65	C+	2.5	3	7.5	
BS-AI-S-25-M-B-46	Zain Akram	71	B	3.0	4	12.0	76	B+	3.5	3	10.5	
BS-AI-S-25-M-B-47	Zain Maqbool	50	D	1.5	4	6.0	71	B	3.0	3	9.0	
BS-AI-S-25-M-B-48	Zunaira Zia	51	D	1.5	4	6.0	56	C	2.0	3	6.0	
BS-AI-S-25-M-B-49	Ali Zain Ul Abideen	81	A	4.0	4	16.0	89	A	4.0	3	12.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026